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PART 1. Give the right tenses and form of the verbs in the brackets. (1,5m)
1. My friends ……………. Ho Chi Minh’s Mausoleum there weeks ago.



(visit)
2. Poets, writers and musicians …………… the “Ao dai” in poems, novels and songs for centuries.
(mention)
3. If we plant more trees along the streets, the amount of pollution in the atmosphere …………… .
(reduce)
4. My sister is on her summer holiday. She ……………. on the beach at the moment.

(lie)
5. Don’t forget …………….. off the faucets.






(turn)
6. I suggest …………….. garbage bins around the schoolyard.




(put)
PART 2. Give the right form of the words in the brackets to finish the following sentences. (1m)
1. …………. is difficult when two people don’t speak the same language.



(communicate)
2. The Internet has ………………. developed and become part of our daily life.


(increase)
3. Modern patterns have been added to the “Ao dai” to make it more ……………….. .

(fashion)
4. Finding that the film was ……………… , we turned off the television.



(interest) 


PART 3. Use the correct preposititions,  relative pronouns, connectives to complete the sentences. (1m)

1. Our parents will be very proud ………… us when we pass the exam.
2. Plactic bags will cause pollution …………… they are very hard to dissolve.

3. Hue, ……………….. was recognized by UNESCO as World Heritage Site in 1993, attacts thousands of tourists.

4. You should do morning exercises regularly ……………….. you want to be healthy.

PART 4. Each sentence has ONE mistake. Find and correct it. Number 0 is an example. (1m)
	0. I would like having a new computer.
	having
	to have

	1. I haven’t seen my grandparents since a quarter of a year. 
	……….
	……….

	2. My aunt wishes she has a large house in the countryside.
	……….
	……….

	3. Na is very tired. However, she can’t finish her homework before going to bed.
	……….
	……….

	4. I’m disappointing that people have spoiled this area.
	……….
	……….


PART 5. Complete each space with an appropriate word. (1m)
Nowadays, many rural areas in Vietnam have been (1) …………….. and more electricity is needed. If everyone wastes energy, it will (2) ……….. run out. Students at school should learn how to (3) ……. energy, for example, they should turn off the electric lights (4) ……………. they leave their classrooms.
PART 6. Read the passage carefully and then decide if the statements are true (T) or false (F). (1m)
Big cities have problems with crowded streets, congested traffic, noise and air pollution. Everyday, thousands of vehicles fill the streets, especially during rush hours. The large numbers of cars, buses and trucks cause so much congestion. No vehicles can move in any direction. Parking is another problem. There are not enough parking facilities, and when cars try to park on the streets, there is not enough room for traffic. Finally, the traffic adds to the problem of air and noise pollution.

1. In big cities, there is a lot of traffic during rush hours.


……….
2. The traffic seldom causes air and noise pollution.



……….
3. In big cities, there are too many parking facilities.



……….
4. Cars, buses and trucks cause little congestion.



……….
PART 7. Write the sentences, using the given words. Make any changes and additions if necessary. (1m)

1. How many/ hour/ day/ you/ spend/ watch  TV?

( ………………………………….……………….


2. Why/ not/ we/ take part/ these/ cultural/ activities?
( ……………………………………….………….

PART 8. Rewrite each sentence, beginning as shown, so that the meaning remains the same. (1,5m)
1. Liz asked me, “When does your school vacation start?”
( Liz asked me ……………………………………

2. Mrs. Quyen does volunteer work. She is a retired teacher.
( Mrs. Quyen, …………………………………….
3. Nobody can deny the benefits of the Internet.  


( The benefits of the Internet …………………… .

PART 9. Choose 2 words with underlined letters that are pronounced /z/? (0,5m)

casual, comprise, sticks, depends, install


( …………………………………………… .
PART 10. Complete the dialogues with the correct responses from the box. (0,5m)
Yes, I would.
That’s a good idea.
Not at all
Yes, please
Yes, of course
1. A: Do you mind if I borrow your laptop a moment?

B: …………………………………………………… .
2. A: I’m reading a newspaper. Could you turn the TV down, please?

B: …………………………………………………… .
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Part 1:   6 X 0.25  = 1.5m
                1. visited        2.  have mentioned         3.  can / may / will be reduced.

                4.  is lying      5.  to turn                        6.  putting.

Part 2:   4 X 0.25  = 1m

                 1. communication           2.  increasingly        3.  fashionable       4. uninteresting

Part 3:   4 X 0.25  = 1m
1. of                    2.   because / as / since      3.   which               4.  if

Part 4:  4 X 0.25  = 1m







1. since → for

2. has → had / could have / would have
3. However → Therefore    

      OR:          can’t  →  can / must

4. disappointing → disappointed

Part 5:  4 X 0.25  = 1m
                1. electrified / changed / modernized /developing…,   2.  certainly / quickly /rapidly / soon                

                3.  save                                                                          4. when / before / as 
Part 6.  4 X 0.25  = 1m
                       1-T              2- F             3-F             4-F. 

Part 7.  2 X 0.5  = 1m 
1. How many hours a day  ( 0.25m) do you spend  (on) watching TV? ( 0.25m) 

2. Why don’t we take part in  (0.25m)  these cultural activities?  ( 0.25m) 
                        (nếu thiếu dấu chấm hỏi có thể bỏ qua)

Part 8.   3 X 0.5  = 1.5m 
1.Liz asked me when my school vacation  (0.25m)   started  (0.25m)  
2. Mrs. Quyen, who does volunteer work,(0.25m)   is a retired teacher (0.25m)  

   OR:     Mrs. Quyen, who is a retired teacher ,(0.25m)  does volunteer work. (0.25m)
3. The benefits of the Internet cannot   (0.25m) be denied.(0.25m).
   OR:     The benefits of the Internet can  be denied.(0.25m)  by nobody  (không tính điểm)

Part 9.    2 X 0.25  = 0.5m )
                                           comprise                 depends                  

Part 10.   2 X 0.25  = 0.5m )
             1.  Not at all                                   2. Yes, of course

PAGE  
1

